Lﬁ_&%z M oo b ope Q\(\pa{\m\ w8 S.708¢.
~ . A Q\QLxs A8)= 4% &) e=9: ETINETRA -m
p=0pc: ?(stcxz)!)}(\“(, P> 0,9 plees=OUY,
) PLXZL2)=0NY ©=0k: plxesa)=96%
P=0aT: pxadd= 3%  p=03: Pplredd) =0T Y

d) e 28)= G Mve =06 pLATN 23N

Y o) plx £ V) =A% p=OF: PL,(;rc\:éA%Ye.
P = D¢ QLK}.'L‘(‘)—“— 167 P 8, PLx?Q—‘f): (3(()3:L Ye

Qr) Lxé.QA)=-0'«]-Q°(¢ =Lz S¥2) = ] °(¢
\;‘g_ o,% - \e(x(;l” = f} °/°' 3%0}1&‘: g(((%a'll) = 0,6
- az) QLXQYA\> %I =05 Pix2T)= 33(1"4
p=0r » QUAREDZUT. =81 p(x2¥V=6 (407 %

£ Adu=50: oxeN=F%  pbeaa* 48T, O, =Ttae]
& ﬁ—?&t., :2?-'-}6“/. T ! i

wu=ALvo: Lx*-“f""{(ﬁn(. plx2 40/)=Z,S°A K. H.=[(?;dw]
K — \,E: %(A%% Q . | {0
w=£0 w, U= LS A2 =400 Wy, =LI0le
1) waee et iiRigy: S S eoxéo)r,
&) UGt Oty Lusgo) o oo L=geshyy Loe
c ) =3%3% (63 S L A0e)=" 0,43
&GQ Y%Ltws-&:x s,«D=ro,‘9 e (\;Lso Lx £000)= 12,4 Y,
M. & oNr| | 8,9 DY Y Oy  or Y ol
oo day | dee g ol Gin ofe gpt on
=30 ix) 0.00) 4 2 o v ¢
- WRSERm T TN St gie ar dic ofw

tbsu"*(\}" 3 &\ A \‘{\(Q,__\_— \{\99\2\3 aL_ R\ (V.\,u.‘. Is S&ﬁl md Sm SMJ X
< \ 45 g T 1 4 0 e

PrA kY S A 9% s AR Y P AN o
x&b) =A,9% (x¢31)=%, 0% < = E
Q&\\QLN \o\g (=6 Q \)Lxxold V!-”X"( (& P 12: =493

wa2A6 ‘_\L\ﬂﬂoo N LT
" 0% 07) Tha et B TR0

oy IS WV\ WA \(N\-\«x.\s I Uau b & widd Ve e
Ve OlyeD)= Q% o i L SART B0V 2 AR

ﬁ\tbat‘bl”‘ftj QB g_&y\)\\?:x 5 %“\I 3°/t ik h;-;?l(k&\% X = '%(((%

D MY Rl €19V AL pLabD= e Ry = (49607
L= 2000 ¢ PX cHN=UD°0 P2 TN, Q\\ﬁ,ufc'f"im"j
Q.r\ )L:-"\\x\& to l‘fqt"l 0;3%1 ‘\"\DL\« ‘f'\ CQ(‘(-%, Dlsr/{j \L\bkl(m‘k top\'oﬂ,f}ﬂo:)

) o Lipl-d ' b H=pee. =%  H=385°,
(o

~



